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3 : 2=/ ! Al 4.1%0.45+3.595%2.35+5.7x11.37+4.15x2.7 = 8.3 1146.96+90.93+132.9+19.51+19.13+11.65+5.58 = 1426.66 #
________ | A2 10.295x3.05+11.345x2.65+1.675x2.15+2.6x4.82 = T77.60¢ AT
, A3 0.8x2.17+2.8x5.075+2.5x3.52+6.775x3+8.375%2.75 132.01¢ < 1426.67x10%=142.67¢ ...0K
! g +0.45x1.675 = 68860
) i Bl  8.37x2.8+6.77x3+2.75x8.37 = 66.77¢ 90.93-1.71=89.22¢ < 1426.67x10%=142.67¢ ...0K
@ B2 6.15x1.47+8.55x2.33+5.6x9 = 793¢ B+ B AR
; B3 4.6x2.65+4.27x3.45+6.715x6.4+1.45x2.1743.5x6.15 =  94.57¢ 132.014+89.22=221.23¢ > 1426.67x15%=214.00¢ ...0K
e - ! 65 Cl 1.85¢5.75+5.3x1.33+7.44x9.6+1.15x2.65 = 9216¢ 221.23-214.00=7.230(it\EmDEE)
C2 2x1.725+3.8x4.97+2.45¢2.375+7.15¢5.675+3.78x5.3=  8B.77#
D1 1.675x2.45+2.675x4.235+ 3x4.685+3.985x2.775 132.9419.13+11.65+5.58=169.26¢
+3.225¢3.085+2.89x2.055+7.145x5.675 = 96.98¢
7 D2 4.21x141.73x1.45+8.49x9.71+0.59x1.65+5.35x2 1426.66-89.22-169.26+7.23=1175.41¢
< +26x04 = 101.87¢ () (o mimm 5%4)
7. I Bl 1.750.45+4.3071+10.71x3.26 = 7920 _
. ¢ WIS E2 2.836x144.86x0.35+7.5050.71+1.75¢1.45 - 79050 = EEFEmE 14F
RIS 77857 TXIHKS FI 2.515x3.15+2.3x1.05+1.885x2+9.4355.65 = 67.42¢
Z;::::::T-s—f- KL F2 7.651.85+6.5:8.15 = 6.13¢ M REAR MR E R
RXKRE== /RS Nt = 1146.96 ¢ %A, B, COBA1 I RA7 4. 45M A% DA O M K5 7. 65M K,
KX X MREENRATIE WA RN 052R
o5 ReER ABHE (11~21H) - EERERR
— . Al 1.0x3.775+4.3x1.3 = 937¢ (86.31+79.95+68.11+66.77+79.85+94.57)x11=5231.16 > 500¢
1 A2 3.795x1.0+1.95x2.6 = 887# CH (11~21W) — SER&HRR (92.16+88.77)x11=1990.23¢ > 500¢
T 52068 A3 3x1.675 = 503« D (11~19N) — EERAANR
% Bl 3x1.675 = 503 (96.98+101.87)x3+(96.98+91.70)x6=1728.63¢ > 5004
Zngl$9% B2 1.35x3.0+3.55x1.0 = 760¢ En 11~13:§ - s 79.21+79.95§x3=477.48-'
é/// B3 4.27x1.675 = 715¢ Fir (1~130) - s 67.42+67.13)x3=403.65 < 500¢
/ Cl 3.68x1.675+1.11x1.6+3.37x1.0 = 113
/ €2 297x1.8+1.0x3.35 - B70¢ 1, HEE R
% D1 3.225x1.675+1.0x3.425 = 883 AB# 3.76x2.68=10.08¢ > 10.00#"...0K
% - 212 }gggxgggggx}% = 763 8: 4.5;2.33;;;45)«;.#115{4-' >510.00|‘...0K "
.525x2.55+3.12x1. = 763 2.45x4.085+1.15x1.425=11.65¢ > 10.00K...
% ///% 2 2.92¢1.525+3.12x1.2 = 820¢ i
ok Fl o 2.30.55 = 350 A FiR S SE R
% F2 2x1.425+1925015 = 57x ABH (17.36+17.25+10.08)=44.69¢
/ t A,B#0.35x1.5+1.35x1.3+1.425x14.675+1.35¢1.275 = 2491 > (77.83+71.87+59.98+58.64+71.44+85.35)x3%=12.75¢
% D 1.35x1.85 = 250¢ CH %31.07+11.34 =42.41¢ > 82.94+78.75§x3%=4.85i
o : N = 13201¢ D  (25.514+11.65)=37.16¢ > (89.55+93.27)x3%=5.48¢
s ’ % t BXEE R
I & AN 0.65%1.05+3.4x3.4+3.76x2.68 = 2320¢
------- c . | BN 0.82.25+5.1x2.6 = U2 ﬂ 25045+.57217+1.652725 =  848¢
P . ! | CH 2.25¢5.11+4.5x2.30+1.45x0.4 = 2283 A2 16752175H.675%2.305 - 754d
i ! ! DM 5.6x2.51 = 1406¢ : : ;
B . Em 2434 = Bie A3 1.775x2.142.75x1.6 = 813
o ! . s & Bl 1.775x2.14+2.75¢1.6 = 813¢
. 835 iR 4B : B2 1.5x2.65+.675x2.65 = B4
B : = & B3 1.625x2.4+1.6x3.325 = 920
{ o Cl 1.625x2.4+1.6x3.325 = 9.22¢
i o M- - “A*EZMW’ €2 3.3551.6+2695.725 = 1002¢
® 0.654.05 = 068¢ DI 2.3x1.675+1.625¢2.2 = 743¢
1 _ .3x1. 625« .
: - . g: ?2?3%5 - (‘)gg: D2 2235385 = B60#
8.715 49x0. = .
%@g Bl 2.235¢3.85 = 860
L bl = ¢ 2 1675035H.81x4.140.415236 =  8.99¢
I\ $TibRE A BXERERE ] SEERIN FI  1.885x2.025+1.825x2.2 = 783¢
i Al 2402.5+11.75+2.22.5+2.8x2.5+2.8x2.5+1x1.75  =29.00¢ > 77.83/8=9.73 ...0K % ka AM 5.075x3.42 = 17.36¢ F2 1.675x2.675+3.825¢1.325 = 9.55¢
Al [=45247.92+2.93+1.47+0.85=17.60M < 40M A2 2.4x2.5+2.4x2.5+2.4x2.5+0.9x1.3+1.6x1.5 =21.57¢ > 70.06/8=8.76 ...0K BN 5.045x3.42 = 17.25¢ EXER
A2 L=4.61+6.23+3.45+1.47+0.85=16.61M < 40M A3 2.2x2.5+2x2.5+0.84x2.5+1x2.5+1.2x1.5 =16.90¢ > 60.73/8=7.59 ...0K m%% CH 1.11x1.3+2.43x3.46+(4.57+3.13)x0.72/2 Al 86.31-8.48 = T7183¢
A3 L=3B8143.49+4.67+3.314+1.47+0.85=17.6M < 40M Bl 24x2.5+1.8x2.5+0.84x2.5+1x2.5+1.4x1.5 =17.20¢ > 58.64/8=7.33 ...0K Ve +1.11x1.98+4.57x3.2+1.8x1.85 = 377 A2 77.6-7.54 = 70.06¢
Bl L=1.97+5.98+6.85+1.02+0.75=16.57M < 40M B2 2.4x2.5+2.4x2.5+2.2x2.5+1.4x1.8+1x1.75+1.6x1.4 =24.01¢ > 71.44/8=8.93 ...0K Z DM 2.7x4.57+0.59x1.05+0.35%0.7+1.275x0.38 A3 68.86-8.13 = 60.73¢
B2 L=4.6+6.55+5.22+1.05+1.02+0.75=19.19M < 40M B3 2.4x2.5+2.4x2.5+2.4x2.5+2x2.5+1.6x1.5 =25.40n > 85.35/8=10.67 ...0K +4,09x2.89 = 255¢ Bl 66.77-8.13 = 5864¢
B3 L=4.63+4.69+3.45+2.6141.05+1.02+0.75=18.2 < 40M Cl 2.4x2.5+2.4x2.5+2.4x2.5+2x2.5+1.6x1.5 =25.40¢ > 82.94/8=10.37 ...0K M 3.4x2.50+2.15¢1.05+3.4¢3.17 = 2184¢ B2 79.85-8.41 = 444
Ol L=4.7+6.82+1.32+1.52=14.36M < 40M €2 2.4x2.5+2.4x2.5+2.4x2.5+1.6x1.5+1x1.75 =22.15¢ > 78.75/8=9.84 ...0K FH 2.325x4.27+2.29x3.6 = 1817# B3 94.57-9.22 = 8.35¢
€2 L=9.61+4.4=14.01M < 40M DI 2.2x2.5+2.4x2.5+1.6x1.5+2x1.5+2x2.5+1.4x25  =25.40n > 89.55/8=11.19 ...0K Nt = 1329¢ Cl 9216-9.22 = 8294¢
DI L=4.01+4.49+7.78+0.71=16.99M < 40M D2 1.4x1.5+2.8x2.5+2.6x2.5+2x1.5+1.6x1.5 =21.00¢ > 93.27/8=11.66 ...0K FHRE A C2 88.77-10.02 = T7875¢
D2 L=4.77+9.1240.98=14.87M < 40M 1 2.8x2.5+2.8x2.5+2x2.5+1.6x1.5+1x1.75 =23.15¢ > 70.61/8=8.83 ...0K AN 2.35x2.15 = 505¢ D1 96.98-7.43 = 89.55¢
El L=4.5142.48+2.34+3.3+2.77=15.4M < 50M 2 2.8x2.542.8x2.5+2.4x2.5+1.6x1.5+1x1.75 =24.15¢ > 70.96/8=8.87 ...0K BN 2.4x2.17 = 520 D2 101.87-8.60 = 9827¢
E2 L=4.5+5.78+0.87=11.15M < 50M I 2.4x2.5+2.4x2.5+1.8x2.5+2.22.5 =22.00¢ > 59.59/8=7.45 ...0K £ 235215 = 505¢ Bl 79.21-8.60 = 7061¢
FI L=3.56+1.93+6.69+1.94=14.12M < 50M F2 2.2¢2.5+2.2x2.5+2.6x2.5+2.2x2.5+0.9x2.5 =25.25¢ > 57.58/8=7.20 ..0K Fi 21x2 = 420¢ E2 79.95-8.99 = 7096«
F2 L=4.3+5.75+0.71=10.76M < 50M Nt " = 1951¢ g g;g_—ggg = gggg:
Al L=4.52+7.92+2.93+1.47+0.85=17.69M < 20M ABN2.7x2.5 = 6.75¢
A2 L=4.61+6.23+3.45+1.47+0.85=16.61M < 20M CH 2.45¢2.55 = 6.25¢
A3 L=4.46+2.57+4.63+2.48+1.47+0.85=16.46M < 20M DN 25¢2.45 = 613
Bl L=4.57+2.96+7.69+1.02+0.75=16.99M < 20M Nt = 1913
B2 L=4.6+6.55+5.22+1.05+1.02+0.75=19.19M < 20M HEEERIN
B3 L=4.63+4.69+3.45+2.6141.05+1.02+0.75=18.2M < 20M DM 2.45x4.085+1.425x1.15 = 1165¢
Cl  L=4.746.8241.32+1.52=14.36M < 20M Nt = 1165¢
€2 L=9.61+4.4=14.0I < 20M SRMER A
D1 L=4.01+4.49+7.78+0.71=16.99M < 20M A,B0.55x1.65x2 = 182¢
D2 L=4.58+8.07+0.98=13.63M < 20M DN 1.535x2.45 = 376¢
1 L=4.51+2.48+2.34+3.3=12.63M < 50M Nt = 558¢
E2 L=4.5+5.78=10.28M < 50M - L = R o= o2l FF -
FI L=356+1.93+6.69+1.94=12.18M < 50M R111-32 + = & = f# =+ & ®(S=1/300)
F2 L=4.345.75+0.71=10.05M < 50M
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so 2 ¥ | 5 #m 3 A A e >r SIGESR
%‘{‘:T T# W v ’f‘»" ¥ © -F)\ 1254 %’fp. 6 i(}%' i)i bs FK.H iﬁ'Ti F v %15,-%‘ BESEEREIE Y IY
—TOE &P BRkER:IE = EfE B
ENEH LT
A 4150.45+3.595¢2.35+5.7x11.3744.152.7 = 83 843.08+62.17+92.89+10.26+19.13422.9945.58 = 1056.10¢
A2 10.295¢3.05+11.345x265+1.675x215+2.6x4.82 = 77.60¢ A HERTR
A3 0.8x217+2.845.075+2.5¢3.52+6.775x3+8.375¢2.75 109.06¢ > 1056.10x10%=105.61¢
+0.45x1.675 = 6886¢ 109.06-105.61=3.45¢(tAomen)
Bl 8.37x2.8+6.77x3+2.75:8.37 = 66.77¢ BASHERER
B2 6.15x1.47+8.55x2.33+5.6x9 = 79.36¢ 62.17-1.71=60.46¢ < 1056.10x10%=105.61¢ ...0K
B3 4.6x2.65+4.27x3.45+6.71566.4+1.45x2174356.15 = 94574 BREHARERS
Ol 1.85¢5.75+5.3x1.33+7.44x9.6+1.15¢2.65 = 9l6¢ 109.06+60.46=169.52¢ > 1056.10x15%=158.424¢
€2 21.725+3.8¢4.9742.45x2.375+ 7.1565,675+3.78x5.3=  88.77t 169.52-158.42=11.10u(tAmnns)
DI 1.675x2.45+2.675¢4.235+ 3x4.685+3.985x2.775 SR
+3,225x3,085+2.80x2.055+7.145x5.675 = 9%.98¢ 92.89+19.13+22.99+5.58=140.50¢
D2 3.26x14+1.73x1.45+7.54x9.7140.59x1.65+5.35x2 SREWBRERS C
+2.6x0.4 = 9L70¢ 1059.55-60.46-140.50+11.10+3.45=873,05¢
M = 84308 () (1wt Mevmn5%84)
Al 1.0x3.775+4.3¢1.3 = 937
A2 3.7951.0+1.95¢2.6 = 887 = ¥BRge 10p
A3 31675 = 503¢
RS Bl 341675 = 503¢ M RAT R
% B2 2.425x143.0x1.35 = b6.48¢ #%A,B,CHA01 I RA7 4. 45M 2% ;D 841 O KNG 7.65M %,
% B3 4.27x1.675+3.351.0 = 1050¢ S, W 05 5%
; , C1 368¢1.675+1.11x1.6+3.25.0 = 1119¢ ABH (11~210) — ET¥EA
, . €2 297x1.8+.03.37 = 87 (86.31479.95+68.11+66.77+79.85+94.57)x11=5231.16 > 5008
i = % D1 3.225¢1.675+1.0x3.425 = 883 CH (11~218) — wEAAmR (92.16+88.77)x11=1990.23¢ > 500¢
| / D2 1.525x2.55+3.12x1.2 = 763« D (11~198) — BERAANE
| / A,B%0.35x1.5+1.35x1.3+1.425x14.675+1.35x1.275 = 2491¢ (96.98+101.87)x3+(96.98+91.70)x6=1728.63¢ > 500¢
| % DM 1.35x1.85 = 2500 EM(1~I30) — 888 (79.21479.95)x3=477.48¢ < 500¢
g % M = 109.06¢ Fit (1113 67.42+67.13)x3=40365 < 500¢
. uERN 1, HEE TR
i % AN 0.651.05+3.4¢3.4+3.76x2.68 = 03¢ ABH 3.76x2.68=10.08¢ > 10.00¢...0K
----------- — / B 0.82x1.25+5.1x26 = 14290 CH  45:2.39+1.45:0.4=11.34¢ > 10.00¢...0K
_ % cH 2256.11 = 1150¢ DM 2.4504.085+.151.425=11.65¢ > 10.001..0K
o jy ssa - i A LR
Z 3 = G}
b /% — A,B(u (17.36+17.25+10.08)=44.69¢ '
Y [ > (77.83+71.87+50.98+58.64+71.44+85.35)x3%=12.75¢
. 4 AN 0.651.05 = 068¢ CH 31.o7+11.34;=4241.- > €82.94+7&75;x3x=4.35.-
‘- S B 082(.25 = 103¢ DM (2551411.65)=37.16¢ > (89.5+83.10)x3%=5.18¢
M = e
B # + BEEHEHE
H '/ 1 ! m’ m
B | AR 5.075¢3.42 = 17.%¢ M 1.250Q45+1.57521741652725 = 848«
» e | . | P8 S0t = s A2 1675x2175+1.675x2.325 = 754¢
§ #] I [ > ! =] b= [ CH 1“X13+2.43X346+(457+313))(0.72/2 A3 1.775x2.142.75x1.6 = 8.13¢
| i +1.11x1.98+4.57x3.2+1.8x1.85 = 327+ Bl 1.775x2.142.75x1.6 %@ 813¢
718 E {35 D#  2.7x4.57+40.59x1.05+0.35%0.7+1.275x0.38 B2 1.5x2.65+1.675x2.65 & 8.41¢
. — ) e e e THO928 = B B3 1625x24+1.6:3.325 = 9ne
: " C1 1625¢2.4+16x3.325 = 9
€2 3.3551.6+2695¢.725 = 1002¢
. m“ 2;5x2 i " DI 2.3¢1.675+1.625x2.2 = 7430
I\ SRR ﬂﬂ%ﬁﬁﬁ’]‘ o BN 24x2.17 T, 02 223538 880
) 242.5+1x1.75+2.2x2. 5+ 2.8x2. 5+ 2.8x2.5+1x1.75  =29.00¢ > 77.83/8=9.73 ..0K 7 " - 10260 —_—
Al L=452+7.92+2.93+1.47+0.85=17.69M < 40M R oS A 001005 =21.57¢ > 70.06/8=8.76 ...0K ,
A2 L=4.61+6.23+3.45+.47+0.85=16.61M < 40M A3 2.262.5+2x2.5+0.84x2.5+1x2.5+1.261.5 =16.90¢ > 60.73/8=7.59 ...0K BRRRY s RATREERN M 86.51-848 ol L
A3 L=381+3.49+4.67+3.314+1.47+085=17.6M < 40M BI  2.4x2.5+1.8x2.5+0.84x2.5+1x2.5+1.4x1.5 =17.20¢ > 58.64/8=7.33 ...0K 777 ) ABN2.7x25 - 675¢ A2 71.6-7.54 = 70064
Bl L=1.9745.98+6.85+1.02+0.75=16.57M < 40M B2 24x2.5+24x25+2.225+1.4x\BHIX1.T5H.6x1.4 =24.01¢ > 71.44/8=B93 . OK /] CH 245055 = 6250 g = Mk
B2 L=46+6.55+5.22+1.05+1.0240.75=19.19M < 40M B3 24x2.5+2.4x25+2. 4254 2X25+1.6x1.5 =25.40¢ > 85.35/8=10.67 ...0K DR 25045 - 613e ol (eIl = REL
B3 =4.63+4.69+345+2.61+1.05+1.02+0.75=18.2M < 40M Ol 24x2.5+24x25+2.42.5+262.5+1.6x1.5 =25.40¢ > 82.94/8=10.37 ...0K p - 1913¢ B2 79.85-841 = T4e
1 L=4.7+6.82+1.32+1.52=14.36M < 40M €2 24x2.5+2.4x2.5+2.4x2.5+1.6x1.5+1x1.75 =22.15¢ > 78.75/8=0.84 ...0K f B3 94.57-9.22 = 835+«
02 L=9.61+4.4=14.01M < 4OM DI 22025+24x25H 611 5+2X.54225H.425  =25.408 > B955/8=1119 0K  ——m HEEERN 0 9216-9.22 = 824
DI L=4.01+4.4947.78+0.71=16.99M < 40M D2 1.4x1.5+2.8x2.5+2.6x2.5+2x1.5+1.6x1.5 =21.00¢ > 83.10/8=10.39 .0 ik OB 1.45x2.79+2.39x3.05 = N34e €2 88.77-10.02 = W5
D2 L=4.77+9.12+0.98=14.87M < 40M [r]en DM 2.45x4.085+.4251.15 = 165¢ L o = g%?g:
N = 2299¢ L -
 Codiii ]
Al L=452+7.92+2.93+1.47+0.85=17.69M < 20 SRTERN
A2 |=4.61+6.23+3.45+1.47+0.85=16.61M < 20M A,B#0.55x1.65x2 = 1.82¢
A3 L=4.46+257+463+2.48+1.47+0.85=16.46M < 20M DR 1.5352.45 = 376¢
Bl L=4.57+296+7.69+1.02+0.75=16.99M < 20M " - 558¢
B2 L=4.6+6.55+5.2241.05+1.02+0.75=19.19 < 20M
B3 L=463+469+3.45+26141.05+1.02+0.75=18.2M < 20
Ol L=4.7+6.82+1.32+1.52=14.36M < 20M
02 L=9.61+4.4=1401M < 20M
DI L=401+4.49+7.78+0.71=16.99M < 20M
D2 L=4.58+8.07+0.98=13.63M < 20M
BI11-34 - = & & f - & BI(S=1/300)
LBIAAFR LG NP
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